TOYOTATUNDRA HIGH-LIFT

ITEM 58415

Parts code
5305083 *1 Steering Rod (BD12 x1)
9804163 3x27mm Screw (BE1 x10)
9805687 4mm O-ring (Black, BE2 x4)
9808086 Damper Collar A (BE3 x5)
9808087 Damper Collar B (BE4 x5)
9808188 3x40mm Screw (BF1 x2)
40121 2.6x8mm Screw (BF3 x5)
9805662 3x10mm Flange Tapping Screw (BF5 x5)
9805611 5x9mm Ball Connector (BF7 x5)
50590 4mm Ball Connector (BF8 x5)
9805185 850 Metal Bearing (BF9 x2)
0445563 4mm Adjuster (BF10 x3)
3455035 Antenna Holder (BF11)
9805240 3mm O-ring (Black) (BF12 x7...etc.)
3585060 4x5.6mm Flanged Tube (BF13 x1)
9808186 3x132mm Threaded Shaft (BF15 x2)
9804200 3x10mm Countersunk Head Screw (BG1 x10)
9805631 Rosette Washer (BG4 x4)
9805884 6x7mm Spacer (BG6 x10)
7795004 Spring Set for M-Chassis (BG8 x2...etc.)
9443023 2x6mm Screw (BH1 x2)
5395069 Muffler Stay (BH4)
9808088 Muffler Weight (BH7 x2)
4305603 Skid Plate
4305604 Skid Stay
4015026 Underguard
53174 Friction Damper Grease (Soft)
5494002 7-8mm Wrench
4305506 5.5-6mm Wrench
50038 Tool Set

(Box Wrench, 1.5mm & 2.5mm Hex Wrench...etc.)
50171 Heat Resistant Double-Sided Tape
50595 Nylon Band w/Metal Hook (10 pcs.)
54032 Anaerobic Gel Thread Lock
87025 Ceramic Grease
7435079 Motor
9805954 Antenna Pipe (30cm) (300 pcs.) (Black)
9495558 Sticker Bag
1050761 Instructions
1000480 Empty Box
*1 Requires 2 sets for one car.

R/C SPARE PARTS & HOP-UP OPTIONS
Item No.

53008 1150 Sealed Ball Bearing Set (4 pcs.)

53012 3x10mm Titanium Round Head Screw (10 pcs.)
53015 3x8mm Titanium Tapping Screw (10 pcs.)
53017 3x15mm Titanium Tapping Screw (10 pcs.)
53018 3x10mm Titanium Countersunk Tapping Screw (10 pcs.)
53022 3mm Aluminum Lock Nut (10 pcs.)

53024 4mm Aluminum Flange Lock Nut (10 pcs.)
53029 1150 Sealed Ball Bearing Set (2 pcs.)

53030 850 Sealed Ball Bearing Set (4 pcs.)

53056 Pin Type Wheel Adapter

53065 1260 Sealed Ball Bearing Set (2 pcs.)

Item No.

53095
53132
531569
53160
53161
53162
563175
53176
53284
53339
53417
53439
53508
53529
53530
53531
53535
53550
53551
53569
53583
53598
53599
53621
53622
53623
53624
53640
53641
53642
53643
53765
53766
53767
53768
53773
53782
53839
53840
53886
53887
53898
53958

3x10mm Titanium Tapping Screw (10 pcs.)

R/C Fluorescent Color Antenna Pipes (4 pcs.)

4mm Anodized Aluminum Flange Lock Nuts (Blue, 5 pcs.)
4mm Anodized Aluminum Flange Lock Nuts (Red, 5 pcs.)
4mm Anodized Aluminum Flange Lock Nuts (Gold, 5 pcs.)
4mm Anodized Aluminum Flange Lock Nuts (Black, 5 pcs.)
Friction Damper Grease (Medium)

Friction Damper Grease (Hard)

5mm Aluminum Ball Connector (10 pcs.)

CA Cement (for Rubber Tires)

Rubber Tire Application Primer

Anti-Wear Grease

Metal Bearing Lubricating Oil

3x8mm Titanium Round Head Socket Screw (5 pcs.)
3x10mm Titanium Round Head Socket Screw (5 pcs.)
3x12mm Titanium Round Head Socket Screw (5 pcs.)
3x10mm Titanium Countersunk Hex Head Screw (5 pcs.)
Marking Sticker (Flag-Type)

Marking Sticker (Flare-Type)

Clamp Type Aluminum Wheel Hub (6mm Thick)
3x6mm Titanium Round Head Socket Screw (5 pcs.)
Fluorine Coated 5mm Aluminum Ball Connector (10 pcs.)
Fluorine Coated 5mm Aluminum Ball Nut (10 pcs.)
Color Nylon Band (Blue, 10 pcs.)

Color Nylon Band (Purple, 10 pcs.)

Color Nylon Band (Pink, 10 pcs.)

Color Nylon Band (Gold, 10 pcs.)

5mm Aluminum Ball Nut (Blue, 10 pcs.)

5mm Aluminum Ball Nut (Red, 10 pcs.)

Smm Aluminum Ball Connector (Blue, 10 pcs.)
5mm Aluminum Ball Connector (Red, 10 pcs.)
3x6mm Round Head Socket Screw (Blue, 5 pcs.)
3x8mm Round Head Socket Screw (Blue, 5 pcs.)
3x10mm Round Head Socket Screw (Blue, 5 pcs.)
3x12mm Round Head Socket Screw (Blue, 5 pcs.)
3x10mm Countersunk Hex Head Screw (Blue, 5 pcs.)
Lubricant Spray

Marking Sticker (Star & Fire)

Marking Sticker (Tribal Flame)

Marking Sticker (Graffiti-Type)

Marking Sticker (Dragon-Type)

Initial Sticker (2 pcs.)

Ford F-350 High-Lift Full Ball Bearing Set

0409 ©2009 TAMIYA rmmu. 3.7 ONDAWARA, SURUGA-KU SHIZUOKA 422-8610 JAPAN




